Name: Date:

Teacher: Class:

Division 602

It is not true that we have only have one life to live; if we
can read, we can live as many lives and as many kinds of lives
as we wish. - S.I. Hayakawa (1906-1992)

Divide these numbers.

1. 3+1= 26. 10+ 2 = 51. 76. 5§ +§=
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2. 8+1-= 2. 4+ 4 = 2. g+3= moo2+1=

3. 25+5= 8. 1+1= 8. 4+2= 8. 15 +3=

4 8+2= 29. 3+3= 4. 9+ 3= 9. 8+4=
7+1

80. 6 = -

5. 10 = 5 = 30. 12 = — 55.
6 30+5= 8. 36+4= . 35+

5= 8l. g+1=
" 50=+5= 2.10+1= . 30+3= 82 11+1=

8. G5 +1= 3. 12+3= 8. 2+ 2= 83. 44 + 4 =
% 55+5= 3 4+2= ¥ 9+1= 8. 20+2=

1040+ 4= % 20+4= 0. 24 +2 = 8 21+3=
1.32+4= % 4+1= L. 6+3 = 8. 14 +2=
12..40+5= 3. 12+ 2= 2. 10+ 2= 87. 24 +4 =
13- 48 +4 = 38 45+5= 3. 15+5= 8. 20+5=
4. 5+5= % 6+3= 4. 18 +3 = 8. 28+4=
15 30+ 3= 4. 27 +3= 6. 9+3= 0. 4+4=
16 24+3= 4.36+3= 6. 22+2= . 18+2=
7. 9+3= 4. 3+3= 7. 60 + 5= 92. 33+3=
18. §+1 = 43. g =4 = 68. § =2 = 9B 10=+1 =
19 16 +2 = 4. 45 +5 = 6. 11+1= %. 50+5=
20. 3+1= 5. 12 + 4= 0. 9+3= %. 10+5=
2. 15 = 3 = 46. 1 =1 = 1. 9221 = %. g+ 2=
22. 4 +2= 47. 4+ 4 = 2. 11 +1= 97. 8+1=
28. 4+1= 48. 10+ 1 = 3. 6+3= 8. 7+1=
4. 3+3= 944 + 4 = 4 10+5= N0 2+2=
5. §+3= 5. §+5= 5. 3+1= 100. 40 = 4 =
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Answer Key Date:
Teacher: Class:
Division 602

It is not true that we have only have one life to live; if we

can read, we can live as many lives and as many kinds of lives

as we wish. - S.I. Hayakawa (1906-1992)
Divide these numbers.

L 3+1=3 6. 10+2=5 °lL 16+4=4 . 5+5=1
2 8+1=38 2. 4+4=1 %2 6+3=2 no2+1=2
3 25+5=5 28 1+1=1 58 4+2=2 8 15+3=5
4 8+2=4 2. 3+3=1 % 9+3=3 9 8+4=2
> 10+5=2 30.12+4=3 % 7+1=7 8. 6+2=3
6 30+5=6 3. 36+4=9 % 35+5=7 8. 6+1=6
7 50+5=10 % 10+1=10 5 30+3=10 8 11+1=11
8 5+1=75 3. 12+3=4 8. 2+:2=1 8. 44 + 4= 11
% 55+5=11 3% 4+2=2 ¥ 9+1=9 8..20+2=10
0. 40+4=10 3% 20+4=5 0. 24+2=12 8 21+3=7
1. 32+4=38 % 4+1=4 61. 6 +3=2 8. 14+2=7
2. 40+5=8 3. 12+2=6 62. 10+2=5 8. 24+4=6
1348 +4=12 8 45+5=9 6. 15+5=3 8. 20+5=14
4. 5+5=1 % 6+3=2 4. 18+3=6 8. 28+4=7
1530+3=10 4. 27+3=9 . 9+3=3 0. 4+4=1
6. 24+3=18 L. 36+3= 12 6. 22+2=11 . 18+2=9
17...9+3=3 2. 3+3=1 67 60 +5= 12 92. 33+3=11
8. 6+1=6 3 8+4=2 8. 6+2=3 % 10+1= 10
19.16+2=38 44 45+5=9 . 11+1=11 % 50+5=10
0. 3+1=3 4 12+4=3 0 9+3=3 % 10+5=2
1. 15+3=5 # 1+1=1 1 2+1=2 % 8+2=4
2. 4+2=2 A 4+4=1 211+1=11 % 8+1=38
8. 4+1=4 8. 10+1=10 ™ 6+3=2 % 7+1=7
24. 3+3=1 9. 44+4=11 T 10+5=2 ©. 2:2=1
2% 6+3=2 0. 5+5=1 " 3+1=3 100. 40 + 4 =10
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